ferlined word followed v &
Mtﬂ“y‘n' wi‘h an 1N { and mark L™ four
oy sonten dlrlmwl word a JOUF Fesponae
PART - A o im thig apetion cnnaiste of "‘ rer the wre
Synonyms Directions : Flavh ifv haslbiges appeeite i ——
° worde Selert the aptinn L e of plenty
Directions : Each item in th . consists of a sentence with an underlined word followed by fou, vour Anawer Shest avenrdindly gprint isa® —
e item in this section " . i - 3
words. Select the option t:ar i:neanml in meaning to the underlined word and mark your response in ctromely attraetive and | 1€ s agliness
your Answer Sheet accordingly. 11. He found her - enreity
) charming {
ness
. i n of art and culture. aatural Py cousth
1. Her smile was contagious 6.  Sheisapatron (a) on “ ous
(a) arrogant (a) entrepreneur b modern @ dry™
(b)  disrespectful (b  admirer (e) repulsive adustrious workman
an DAUSYEES
(¢)  sarcastic (¢) critique (d) disapproving 7. Hei=® .
v
(d)  catching (d) backer (@) act e
i The sky & undless y produc
7. Arrogance is a hallmark of his nature. 12. B
2. Her dynamic nature impressed everyone. @ ncern (a) hagh (e) \azy
— co!
(a) enduring (b) vast & msloyﬂ\
(b) unpretentiousness
(b) attentive (© expansive N N
(c)  conceit ndance here
(c)  evolutionary (d) finite 18 Plants gFow in abu
. (d) simplicity \
(d) jealous a) shnve
8. She undertook a reconnaissance of the entire 13. The sky is clear today s <rreteh
3. She was lamenting her destiny. issue.
(a) bright | .pread
(a)  celebrating (a) revaluation &) opaque . :
i () enlarge
| (b)  bemoaning (b) ratification (o) cloudless a
(¢)  blaming (¢) investigation
(d) aking y @ ke 19 She rarely comes here.
m; (d) regularisation i
. ave a fascing for deep waters. (a) seldom
4. Under his leadership the company grew in an | 9- My daughter is my replica lica. 14, 1bave a fascnarion BEE=2 b) never
organic manner. (a) pride (a) dark )
(a) natural ()  clone (b) light (e always
(b)  speedy © love (¢) dangerous (@) frequently
(¢)  unusual (d original (d) shallow
n;
(d) disciplined 20. She is a rather crooked woman.
10. The sardonic nature of h i
er stories made her 5 8 :
. L. . My boss has been o enerous. n
His charm lies in his oratory. stand out among the contemporary writers. 18 ¥ hoss (a)  polite
(a) decei (a) co i (a) stingy
eceit - n?passxonate (b) genercus
(b)  eloquence (b)  insightful (b) rough
(c) looks (¢)  mocking (¢) evil \ (e) straightforward
¢ \
(d) nobilit (d)  comi \
Y e (@) hostile \ (@ happy
FJY-U-GTA

(2-A) FY-U-GTA (3-A)



D i"GCtion
th,

s : Giy idioms!P
€ response (a) By oy L are some P4 he

1dio™

t
> ®), (¢) or (d), whichever 1S
Answer Sheet accordingly.
21. Overstep the mark 26.
@) To tell people how successful y0U &7 ¢
5 o
) To step into someone elses areaS
€Xpertise
(©) " To upset someone by doing/saying more
than you should
d)  Todo something in an excited Way
22.  Palsy-walsy friends 2.
(@)  Good friends
(b)  Friends who help each other in difficult
situations
(¢)  Friends by choice, and not by chance
(d) Unfriendly
23. Open a Pandora’s box 28.
(@) To do something that causes a lot of new
problems that you did not expect
(b)  To do something out of compulsion
(¢) Todo something beyond expectation
(d) To do something out of the box, that
causes awards and ceremonies for you
24. Pull your socks up 29,
(a)  To get well-dressed for the occasion
(b)  Improve your work or behaviour
(¢) To speak in an honest . i
hesitation %5 withous
(d)  To be in control of apn ol izati
secretly Tganization, often
25. To get under somebody’s gkiy 30
(a) To deceive someope )
(b) To admire Someone
(¢) To annoy someope
(d)  To support somegpe
FJY-U-GTA
(4-A)

s and Phrases ) .

d by four alternative meanings to each. ¢y,
rases followed 0y : d mark your response ;;, . ¢
st appropriate expression and mark y Sein y,

mo.

ur

Turn topsy-turvy

(a) To completely change something

(b) To completely evaluate something
(¢) To enjoy yourself greatly

(d) To exhaust yourself completely
A clarion call

(a) A trumpet call

(b) An intimidating voice

(¢) A strong request

(d) An urgent order

Fire in the belly

(a) Fear and hatred

(b)  Powerful ambition

(©)  Love and dedication

(d) Lethargy and indifference

A hunky-dory situation
(a)

There are serious issues among people
(b)

There are no problems and people are
happy

(c)

There is war and bloodshed all over
@)

There is no work, only enjoyment

Give somebody a leg up
(a)
(b)
(c)
(d)

To pull someone dowrr
To deceive and betray someone
To help Someone for their livelihood

To help Someone to be successful

Spotting Errors

D . rts labelled (@), (b) and (
rlined parts , N

i ¢ unde
i ion has a sentence with thre .

irections : Each item in this section SR

ire : ' u

rr any nderliné rt and ind
ny error in

there is a OT, YOUT Tes
Read cach sentence to find out whether ) or (©- If you find no error, y ponse

er 7T i ri (a) O
i.e.,

Sheet against the co espondl,ng lette:

in the Answ T

should be indicated as (d).

blems too. No error
’t have Pro
ly on suffering; other people don -
31. Youdon'thave 2 monopo -
- -
(b)
(a)
i ults.
they have hidden fa
ean that
admire has feet of clay, you ™
that someone you -
32. Ifyousay
(b)
(a)
No error
()

i int out. No error
to change his decision; he refused it po
-
33. He refused . =
-

b
@ (b)

. X a
i hal times reinforce
e importance of trade in Mug!

4. Theimporte®® >~ —————

(a)

. isi ble property. No error
al definition of wealth as something comprising of movable prop _—
the cultural de

(c) @

(b)

(5-A)
FJY-U-GTA




. tradition?! scholars

5 In the nineteenth centoy, 2T

Fill in the blanks
(b)

Directions : Each of the following sentences in this section has a blank space and four words or group of
(a)

nsider most i
words given after the sentence. Select the word or group of words you © St appropriate for the

oy,
Government- No error blank space and indicate your response on the Answer Sheet according®y

tried to stay clear from the imperia]

(d) United Nations had 2020
i t G . The as
© 41. MMM,M M.Em a time when West Germany was a | 46 the International Year of Plant Health.
et .
ed
(a) policy (a) ral a
®)  polity ®) on%mw A
o that men and women (¢ abstract () fore
36. He be his di jon by vo—bnﬁi over —_— lared
gan his discussio ® (d) hierarchy (@ dec
(a) -
42. 1 was ___ with the film; T had|47. My brother 18 punctual, but he is
. ; late today-
had different biological functions: E expected it to be better- S favely
e s — -
@ (a) disappointed (@ mormAn
“ (b) disappointing () primarily
(9 annoying (¢) normally
(d) prejudiced (@ basically
37. Though he is poor, butheis honest. No error 43. Tt was a experience. Everybody | 48. My sonisvery > he trusts everyone.
(a) ) (© d) was shocked. (a) fallible
(a) terrified (b) gullible
(b) horrified (c) sensible
(¢) terrifying (d) credible
38. My mother has been doing everything for the family. No error (d) denouncing
49. Mahatma Gandhi was a lover of humanity
(@ ® (©) @ 44. Elephants when they perceive and a believer in the goodness of
danger. human nature.
(a) trumpet (a) staunch
(b)  frolic (b) powerful
39. When learning to dive it isj .
iy E to relax in between and take breaks. No error © sww::m © N
) ®) — @ sing (d hopeful
(c) (d
45. The first film on Tagore was such a success | 59. 1 wish I
that now they are going to make a . her before we met.
- (@) kno
40. [ have the opportunity tg gpyg. (a) serial o w
—12ve e opportunity . .
® 2 Study E . No error (b) sequence have known
" (b) © =y () sequel (e) knew
Y-U-GTA (d) sequential @ known
(6-A) FJY-U-GTA
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. fET | 54
ﬁ@ﬁw&i@%@%a

it - et

1. nﬂﬂﬁﬂ@.&m%&aﬂﬂaﬁﬁ

o st R T

s ? |
3. v T wew A A
2

TR e mRe ™
&2

(a)
(b)
(c)
@

51.

sl T

%&iﬁmﬁm@
55.
1,23 3
Fad 23R 3
Had 13K 2
Fad 1

52. arqEechm qW W wa ¥ W $ d@d
R F a s wd @2

(a)

4°C T S 1 T 1000 kg/m3 BT 2 |

() 0°C'R S 1 T 1000 kgm® el 2 |

(©)  0°C T A F T4 100 k/m3 31 & |
@) 4°CR 9 F T 10 kg/m3 BT 2 |

53.

sifas qﬁmﬂwawuﬁw%i 3 e
gafe 2 2 TR I v
R

2. ivﬁwawx (-‘W@dﬁ_ﬂ
sottme o

(@ 1,233 IR P

®  FT 1 a3y
(c) Wﬂﬂw@?w
@ ¥y

FJY-U-GTA

@id. (T e )
feparep wfl &9 8 ?

(@) TS BT e
(b) wTEE TSl fearsE
© e uEfE sEs
@ e Gl few

mﬂﬂﬁﬂj

Jmsmmmﬂnﬁmmmmwﬂﬁwgﬁ
srEeael 5 & — I8 H

Fag A R |

A 0°CT TE # |

T T Y R |

(a)
(b)
(©)
(@ T& R IF¥a TG ¥ — AE whAW
AT W Al s g |

Prafafes & @ R sEdsiEE

TETEth g R 2 A
(a) HBrO,
(b) HOBr

HBr

PART - B @ s omi-conductor  device) s gy
51. Consider the following statements about Light | 54- MM—W@ iation that stands for
v”..uwn . Light year is a unit for measurement of (a) Fwnmﬂnm e Hbmnmvw Detector
very large distances. ® Light Energy Device.
2. Light year is a wan for measurement of © Light Emitting Diode.
very large time intervals. Detéctor.
3. Light year is a unit for measurement of (d) Lost EnergY
intensity of light-
MMHMM». ..w». the statements given above is/are I mvﬂemnumbn «friction force is a contact force
- 12 nd 3 while %&ia force 1s a non-contact force” is
() 2and3only (a) always o
(¢ 1and2 only () true only at 0°C-
@ lonly © a false statement.
52. Which one of the following regarding density (d) either true or false depending upon the
of water at atmospheric pressure is correct ? temperature of the surroundings.
(a) Density of water at 4°C is 1000 kg/m®.
(b) Density of water at 0°C is 1000 kg/m>.
(¢) Density of water at 0°C is 100 kg/m3. 56. Which one of the following is the chemical
(@ Density of water at 4°C is 10 kg/m®>. formula of Hypobromous acid ?
s3. Which of the following pairs of physical (a) HBrO,
phenomenon and the discoverer is/are (b) HOBr
correctly matched ?
L JamesChadwick : Photoelectric (© HBr
effect (@ HBrOg4
2. Albert Einstein : Neutron
3. Marie Curie :  Radium
MM“MMM .070 correct answer using the code given 57. The composition of gases in exosphere is
(@ 1,2and3 (&) Hetimand Sosrosse:
(b) 1land2only (&)  Neon and Oxygen.
(¢) 2and3only (¢ Neon and Hydrogen.
(d) Sonly (@ Helium and Neon.
FJY-U-GTA
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%.Wﬂm%mmmwm.mm%mwu.@

b
58, < ¢ w % ﬁ&ﬁﬂ.— %ﬂ. 2 ﬂ.@ﬂﬂ fi =O§H—m sets of el
M ¥ i frefete Mat N \ g8. Which one of the following is not used as a 62. Which o?”.www clements has the
R w... Y .m i qu (a) Na, zm‘ Ca raw ngla in the manufacture of glass ? game <W~m
(a) Ca
(b Mwﬂﬂmﬂﬂ () Na Mg Al (a) Soda (a) Na, Mg,
v '
A () Mg CaK (p) Alumind ®) Na, Mg, Al
¢ WREg
(gemm) @ Mg,Ca,Ba (© Borax Mg, O K
Ae g (c)
@ Gypsum @ M&C* Ba
59. T ¥ fgr.omeh %%m.wﬁ.%mm g3, Frfeiaa 3 & AT JH HTo Ty 4 g of
; ! . Jectrolytic  T€ ng of copper, the . the following is the 1
Pt & e e @ o o I e net o, which oo O e lowest
(a) U‘% % i Q~¢Oﬁﬂ°~v~$ 1sa mvommwvﬂw SB‘OHNQHQ
NS (b) -073 afced (a) acidified copper chloride. - Celsius
®)  STfga FER (© - 173 dfcwE @ 00
Sirino - (b) acidified copper sulphate-
© S _ 073° Celsius
@ -273 e ) potassium chloride ®
© - 173° Celsius

@ feam weR
(d) sodium sulphate-
@ - 273° Celsius

0. hes: Pt 4 gy |64 TP e T R g S

(@) Cu3 Sn A afE § e form a9 W 60. Solderisan alloy of
(b) Fe 3R Zn I E 2 (a) CuandSn. 64. anawﬂw:w w“io aEwMHMMEm”M, E.oum ma»wu
Fahrenheit s¢ e an other elsius scale
() Pb (a) —40°
3R sn a) -40 () FeandZn. hall read same at
@ Ag3W Zn (b) 0° (¢ PbandSn. - 40
a) -
o (c) -273° @ AgandZn.
' %uﬂm_ﬂ._ﬁ M) ¥ W § e & 4| @ 100 ® O
E Lok R Y . . (e -21%°
@ H 3 61. Which one of the following statements about
@.Nz m%_ T A & ok & Ao |65. & i dihydrogen (H,) is not correct ? @ 100°
. ﬁnmm ¥ %
(b) T H - H a7 iy sfefar 3 , 8 (@) H, is lighter than air and insoluble in
~ (a)
ik Wt e 4 & o water.
R H, 9 3 | T w2 vt 3w wd 65. ewmgwmoiamomgv_wum%nw
© H, ¥ T g _ () H, is inert at room temperature due to
MEWE g ?Mo“@q@& ¥ my (b) Mﬂﬂﬂ 3 o o 3 high H - H bond dissociation enthalpy. (a) real and thus can be vrosms%&.
_ ) @
© [EESREE J (¢ H, reacts with alkali metals at high (b) virtual and nearer than the object.
NO, @ﬂﬂ (c) e .
, 5 et temperature to yield metal hydrides.
N 5 Eﬁgwﬂﬂmﬂﬂ BT R ik qreda: Seet A & | . () virtual and is laterally inverted.
o @ SRl B 3 fomq o @ A mixture of NO, and H, is known as
-U-GTA TERh R | 3ah! T o Syngas. (d) real but cannot be photographed.

(10-A)
FJY-U-GTA (11-A)
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66. ® sk .@miﬁga%
Heran o s o T FA

e
) B

(© Tt
@ den

(a)

67. Wﬂ@@mmwnﬁaw%a%@?
(a) 52,%2#%_
() e, o R
© &R, wr ol fe
@ g, dE sk

68. Frdfa
= fus oRwtdt (New Cartesian Sign
Convention) % 38R 1 1 1y 2z

W=l b E| g,

T fafafea § @ $ha
@ i
ST e o 9 3, 5 vt &

(@) 7 e 28 v g
) e A S
|

(c) IE A vy 3
5§®ﬂw_ﬂ§.§s§iﬂ

@ TEEE I

73.

69. P I
. %
ﬁﬂﬁgnggﬁimﬂﬁﬁ

(@ TRy T R 2
®) AR

© e

@ T

FJY-U-GTA

(12-A)

70. WIEIHIAT * fhg wmr & AR

W

WEIRIEEd @,_.?.WH._.M m.vmﬂ W 2 j
(a) dmer freett

b BfgF

(c) ATaRer fereeht

@ WTEIHTR ¥ AT

I o
iiﬁwﬂ%ﬁw&w%ﬁm
(a) T

b &

(¢) <R U i Afereprd

@ T

s SRl B
. faftre worft S
mam_ﬂa_gﬁgwﬂﬂd%_ﬂwu\ Nﬂmwm

(a) oPIRTRT fafeq
(b) IR fawreE
(© IR U
(@ B gt

HWW%ﬁﬁquﬁgaﬁﬂi

P it 3 ¥ forg v ¢, foed oo
e # | o e gfie |

ANV Mﬂﬁﬂ.@.ﬂ.ﬁu—.ﬂw@ﬂ 1%

(b) TR 3R era7q

(©) HTYI-HYAT ik 377

(d) ﬁ%ﬂ@#ﬁﬂ%ﬂ@wc

Which one of the following colours may be |70-

obtained by combining green and red colours ?

(a) Blue

(b) Magenta

(¢) Pink

@ Yellow

Which of the following are the primary colours |71+
of light ?

(a) Yellow, Red and Green

(b) Blue, Red and Green

© Violet, Red and Yellow

@ Indigo, Violet and Green

New Cartesian Sign

According  to
he following is
1 1.1

which one of t

f the formula = = -+ >
f v u

al meanings ?

the

Convention,

correct in respect ©

where symbols have their usu

It applies only to spherical
rical lenses.

(a) mirrors.
®» It applies only to sphe

e It applies to mﬁwmlomu mirrors as well as

spherical lenses.

@ Itisan invalid formula. 18

different parts of

Movement of materials to
arried out

cytoplasm and nucleus is generally ¢
by

(a) Ribosomes.

() Mitochondria.

(¢) Lysosomes.

(d) Endoplasmic reticulum.

72.

In

reaction®

(a)
(b)
(c)
(d)

Squ:
inner 1ining of

(a)

(b)
(c) Ducts

@

A,nwummoawnou
specific vmawbma tiss

a, ATP synthesizing chen
lace in the el

take P
Outer membrane-

B»S%ou&.m

g“&%.
[nner membrane-

DNA of mitochondria.

amous @v»ﬁummw— cells are found in the

Oesophagys-

Small intestine-
of salivary gland.

Kidney-

of meristematic cells into
ues occurs by the

process of

(a)

Cell &m.mnmﬁnwwﬁob.

(b) Cell division.

(©

(

requir
releases energy- Given b

combinations of the proces

(13-A)

FJY-U-GTA

The gaseous product of a pr

Cell multiplication-

d) Cell regeneration.

onmmmEEwEhmm
tal process that
elow are four
s and product.

ement for another Vi

Identify the correct answer.

(a) Respiration and Nitric oxide

(b)
© Photosynthesis and Oxygen

Transpiration and Water vapour

(@ Germination and Carbon dioxide



e
74
? § ;@ |7
(ST ﬂ:ﬁw feafirat Mﬂq o . ©F faaeh % 99 W |
Wdﬂf\muﬂ.m_ 1) # @ yrT Sfear & m@ 10 firy
(Tifires NI ® s | R § Qe *
Agefta/as ﬂaﬁ 9) # ol %Mﬂ T fehaeft BRft o W %ﬁ;
. ﬁ . 1 .
Wﬁ% Ty A o ™ | fr ¥ 3 (a 01C # 74. In w.a_neﬂ pot herb, vaseline/vegetable oil was |77 A current of 104 is drawn by a fi|
ﬂ.ﬂ.m@mﬂ mrlw aa T8 mﬂ_ﬂa: || ® 10C E.E_Em. on the upper surface of one leaf :  etric pulb for 10 minutes. ewmmama%g
S Sl muw % TH & fon ™I | Exvmaaman& leaf 1) and on the lower surface electric charge ¢that flows through nrﬂsfa. of
@) Iq ﬂ@i 0 (¢) 600C of another leaf (Experimental leaf 2 c circuit iy
T 991 1 @ yaseline/V' egetable oil was not applied on :.v. @ 01
e
Mdv ST T 2 800 C control leaf. The plant was deliberately not (b) 10C
o mermom s =
il 7. frfafga # i 800 C
T 8§ ﬂw._w o O ST o 3 s (a) m%vwlambn,& leaf 1 @
75. b fomon & ' _ W ? E2i i () mgmlawng leaf 2
& 2°? (a) Hm R (c) Control leaf 78. Which 0P€ of the following formulas does not
(a) i . t _wﬂﬁlom; wer ?
Ty, fm-fim aem i ffm a1 & ® IR? @ Althe Jeaves will dry UP simultaneously auamwn e po
T R | @ IR
(b) eI, A T (e VI 75. Which one of the following statements is not a1 7
fFve 9@ 8 ﬁu”ﬁw@ﬁ et s ) vZ/R correct for light rays ? )
(« T, 3 & 9 _ (a) Light travels at different speeds in © VI
sk ag ¥ . ﬁﬂﬁw FI W LT 8 different media- C] v2/R
i} & St & ' @A |H T 79 TG —— (b) Light travels at almost 300 million
() ST, S8 @ F9 F aR A £ T @f _:ngww,_\ﬂmm? B@ﬁ.mmvwammaonarum:. ‘
8 i Iy 7 YaY #a & I Tl FEd g2 2 | 3§ gREeT AT\ (© Light speeds down as it leaves a water 79. The sound created 17 2 big hall persisis
oG I 2 | , @ Jght =T ( ’ surface and enters the air. pecause °f nvmmbnw_ummemm reflections. The
a h i d
76. T S ) A memw.ﬂuv @ Light speeds UP as it leaves 2 glass ﬂ enomenor is ca=e
& ) w@.ﬂ W R o (b) fa@ (feeaeia) surface and enters the a1F (@ Reverberatio?
Hdl & | afir . .
w1 fa ( wmv%ﬁmﬂ 3 sy o q (© o9ad ( (o) Dispersion-
a F=-91 m%wwuﬂ .ﬂﬂw | J EM._ @ A C 76. A glass prism splits white light into different (© Refraction-
@) TE N ? eTfgd feraret AWwﬂmﬂuv colours. This ES:oBcbob is called dispersion @ i "
gaifus f T & Fmoy — of light by prism- Which one of the following meness
udl I =T [ 80. Qﬂ statements is correct ?
) T F I fopelt am g
s ey < & T ) Rt S 6 ﬁ@@mﬂa it g & 3 (a) Red light will deviate the most and it s | go. When light is eattered by & ) o and &
5 & | kol qRafdd pecause of the flection of light ) ' ed by @ MO
© TN E iy 3 ftgeaT Y 1 Fad & 2 At &, AE b Vi i .8 N .Suo L ) grequency °f the scattered light is change
adifus EE m B r— @ & v : (b) jolet light will deviate the most and it this vrwboambob is called
@ I I Lol is because of the refraction of light- @ Rayl - scatteri
. a ayleigh sca ering-
s faaer w,:w 0 Frft (b) TH EN (© Red light will deviate the mOst and it 18 ¢
FJY-U-GTA : Rl () SHmI-faER pecause of the refraction of light- () Raman effect-
@ TwHRE A () Violet light will deviate the most and it © Photoelectric effect:
(14-A) is because of the reflection of light- () Ncnrml.ona scattering-
FJY-U-GTA (15-A)
D
©
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(¢) Hz
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—+

g9. Twinkling of stars is due to 93. Which oneé 0:; the :::W"“.g s‘a‘%mgm_!“
. arm [
(a) particular frequencies of the starlight for a2 simple scillator 9 g
(b) reflection of starlight from the oceanic (a) Foree acting is directly proporyy
surface. the displacement from the mean Nﬂ'\t:“
P . . on,
(c) atmospheric refraction of starlight. and is 1 same direction.
(d) magnetic field of Earth. ®) Force acting is directly proportiona) v,
the displacemel")t from the mean positioy
and isin opposite direction.
0. Which 0% of the following cannot be the unit (c) An:eleration of the oscillator is constant
of frequency of a sound wave ? ’
(a) dB @ The velocity of the oscillator is not
riodic.
® st Pe
(0 Hz
@ min~! 94. During seed germination, the part of the
embryo which grows into root is
(a) Radicle.
91. ‘Beats’ is a phenomenon that occurs when
frequencies of two harmonic waves are (b) Plumule.
(a) equal. (e Cotyledon.
(b) far apart. (V) Epicotyl.
(c) multiples of each other.
(d) nearly same.
95. Ina typical flower, germinating pollen grains
pass through several parts of the gynoecium
‘92. Light waves are incident on an air-glass before they reach the ovule. A list of the parts
boundary. Some of the light waves are of gynoecium is given below in different
reflected and some are refracted in the glass. combinations. Choose the combination that
Which one of the following properties is the represents the correct sequence of pollen tube
same for the incident wave and the refracted pat.hway/journey :
wave ?
(a) Style, Stigma, Ovary
(a) Speed
(b) St , Style, Ov
(b) Direction gma, Style, Ovary
(¢) Brightness (¢) Pistil, Stigma, Ovary
(d) Frequency (d Ovary, Pistil, Style
FJY-U-GTA (19-A)



% “ﬁmwm%mmﬁm&
mwm\%ﬁ(mﬂ,aﬁ,)ﬁﬂ@m?
(a) W.ﬁ.‘&ﬁ.q’gﬁﬁﬁq@,
b A e
(c) W.ﬁ.‘eﬁ_t{@ﬁwqﬁm

@ smaah w8

97. ;

;1:1;11‘@ 3 forg fagfi o e 1 T5€
(a) *“""Waﬁtﬁ{,
(b) Tad IR T |
(© §odt AN EA |
(d) a3y |

98. ‘Tﬁ#mmﬁ?ﬁwﬂmm
ﬁ’ﬁmmwmwé’a%
(a) a8 qatdd @t |
(b) et et |
(© wsﬁ(g@rﬁ,
@ &R

99. wifas
X feferfiga & & fian g
(@) ¥ Y % Rdw 27
) s s
© %ad THY & _
@ m%mg;ﬁﬂ*maﬁq
2 T sfiafs Ty

100. Fefafed ¥ §
ﬁlmm
fere

FJY-U-GTA
(20-A)

1101, Frefifn & & e g s
s
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(a) o

(b) TR
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(¢) TR 1 GEH HE

() O T % FE H TG oA

103. LN
e ofs sl e 3 i 4

AR T T B 7
" ﬁ,ﬁ@,ﬁ'&ﬂ
I I AR E AT WA |
e () &9 A
e fow e e
i R .
b) ¥ 2
@© 13N 23R
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102, Frefofan # & w441, FHC e &
"y

If human plood 18 placed in a

96.
what will happen to th

golution,
(a) The RBC will ghrink.
(b)
(0
(d

The RBC will swel
The RBC will 8
The RBC will lyse-

The major gource of vitamins an
vegetarians is
plack gram
rice and mustard-

es and fruits:

97.

(@) and wheat.

(b)
(c)
(d

vegetabl

soya bead and milk-

If a ray of light enters

a denser medium
would

(@) reflect back-
(b) &0 straight-
turn towards right-

98.

(c)

(d) pend at 45°.

rage is an illustration of

only dispersion of light-
only reflection of light.
only total internal reflectio

Mi
(a)
(b
()

@ both refraction  an

reflection of light.

Common salt (NaCl) is no!

material for Pré
following compounds ?

Bleaching powder
Baking soda
Plaster of Paris

100.

(a)
(b)
(]

(@) Washing soda

FJY-U-GTA

e RBC?

] and become turgid.

well and burst.

d minerals for

from a rarer medium to

at zero angle of

d tot

¢ used as 2 raw

paration of which oné

2% detergent

102.

incidence, it

n of light-
al internal

of the

(21-A)

103.

b one of the following Harap,
. 1iced centre f A0 Sty

speclallse or maki“
% shell

e following was not a part

Which one of
the dhamm@ of King Ashoka ?

(@ Honouring the King
eligions other than on¢

(b) Tolerance of T

own

Respecting B

Promoting the we

rahnmnas

(c)
Ifare of his subjects

(d)

following statements abo

ich of the
traditions js/are correct ?

Saguna phakti

1. Saguna phakti
worship of specific

Vishnu or his avatars-

traditions focus on ]
deities such

una bhakti traditions, Gods

9. In Sag
conceptuali

Goddesses
anthropomorphic forms.

are

Select the correct answer using the codt

below :

(a) lonly

(b) 2only

(¢) Bothl and 2

(d) Neither 1 nor 2
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4 Befeen 3 & fag cam @
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1 3 o i o 7 BT S
(@) frdem (@) Ry l d is completely y,
’ . . Islan eac,
llowing pla KepPe1 : N g
: (b) 104. At which one of the fo g places was a|107- ansion of iy
(b) W et %ﬂ Shiva temple not constructed under the due to the e*P R
() T 3 (© Wﬁﬁw patronage of the Chola rulers ? (a) StaIﬁSh‘
élalﬂm hale.
@ ¥ Eﬁl g (a) Chidambaram ®) Blue ¥
(d) m ) . © OctOPus'
(b) Thanjavur @ cea —

(c) Gangaikonda Cholapuram

. -1 75} t N
105. 21 Yo s & g f e § @ T R = i @ Naneste o8, Which one of the LIS FEr s mat o
. . Brahmaputra ?
PRIV o 47 (@) Y T tributary of TiveT =¥
L 3 3 3 foed § ah (b) T 7& (a) River Manas
a9 7 #t ﬂﬁ, i : 105. Which of the following statements about the ®) River Kameng
yIfad 76 4 | (¢) TEMHSr 3t Deccan Riots Commission is/are correct ? (¢ River Mahananda
2. T ‘ .
! 3 Yo, wEE otk eaereyt d) geARd 1. The Commission did not hold enquiries @ River Subansiri
R & Fo o frud in the districts which were not affected.
¥ fag o
T F W R g 109. f=fefag & 9. The Commission did record the . ¢ the following is mot a mino
IR Eﬁq : ﬁ ﬁ ﬁ?—?ﬁ Eg tﬁg m% ? statements of ryots, sahukars and 109. Which one ©
- 1 (a) i e e-witnesses plate ¢
eye- .
(b) ) . (a) Cocos Plate
Fa 2 (b) TTSHT Wi Select the correct answer using the code given ©) Nazca Plate
(© 1 (© aiﬁa'yg:f below :
s i d . wie © (¢) Caroline Plate
@ A3 1,74, ) TR T (@ 1only (@ Antarctic Plate
(b) 2only
110. mEdie ¥ fygdh Both 1 and 2 o
& 3 nfafafy & amif 3 wfim «© o 110. Advantage(s) of tectonic activity in Icel
106. ?zma ™= w5 f ; : (d) Neither 1nor2 include(s) :
? m
. § i Y 7 L YAy St EY RG] 1. Source of natural geothermal energy
(@) & § & T 2. " ‘@ 1 g 9.  Creation of new land
b T 5y (ﬁ:‘( & for 3{TeHYur 106. Which one of the following is the correct 3. Attraction of tourists
© fom Wﬁn) T BiE| ﬁ'q ™ T meaning of ziyarat ? Select the correct answer using the code
Wﬁf@ﬁ @ 3 ”'W?@Wgﬁq; below :
d) ug o AL 1 (a) Pilgrimage to the tombs of sufi saints (a) 1only
# (b)
S} T Hae 23Kk 3 (b) The practice of revenue farming (b) 2 and 3only

(¢) 1land3only
d 1,2and3

(¢) The death anniversary of a sufi shaikh
(d) A form of Islamic divorce

FJY-U-GTA (23-A)




(a)

ST
®) S
(C) T"ﬁ»

112 R 3 qn qom w7 22

@ 90 faft sy
()  23.5 fufy sy
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111. The process whereby certain minerals absorh | 115
absor .

water, expand and change ig called ag

(a) Hydration.
(b) Oxidation.

(¢) Hydrolysis.
(d) Carbonation.

112. Which one of the following is the longest
Latitude ?

(a) 90 degree Latitude

(b) 235 degree Latitude
(¢) 0-0 degree Latitude

(d) 665 degree Latitude

118. If it is 12-00 Noon in India, on which meridian
will it be 7-00 am of the same day ?

(a)
(b)
(c)
(@

7-5 degree E. Longitude
7-5 degree W. Longitude
75 degree E. Longitude
75 degree W. Longitude

114. Who among the following was considered to be
the preceptor of Mirabai ?
(a) Dadu
(b) Raidas
(¢) Ramanand

(d) Surdas

FJY-U-GTA

the following Sta‘eme“\&
E\

ami Dibba :

Consider
MahanaV

1t was the name of a giang box &
SWegy

",

1.
distributed at the Mahanay,,
. ®Rivg)
as the name of a magg;
Itw Sive p\m“““

with a base covered with relief ¢ ng
8.

Which of the statements given above in/are

correct ?

(a) 1lomly

®) 2only

(¢) Both1land 2

(d) Neither 1 nor 2

<
D
<
=
£

!

|

116. Which one of the following statements about

the Ain-i-Akbari is not correct ?

(a) It was written by Abu’l Fazl.

() Tt is a part of a larger work called

Akbar Nama.

(¢ It describes the Mughal Empire as
having a diverse population and a

composite culture.

It was later revised by Sadullah Khan
on the orders of Shah Jahan.

[CY)

(25-A)
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(@) Fae ]

(b) Fae 2

© 13 a5

@ T34,

FJY-U-GTA

121,

119. 3S-hls HAMIPla  (HIhI-3ATG,

120.

freferfan & @ Read daftr 2 Mﬁ
(@ FAeH

(b)
©

(d

freferten & & fohe 78 o o7 T ¢,
(a) 99

® T

Teefd

) gvzﬁ

(c)

sy
By

(a)
(b)
© M-

)

T S

—

117. Swami Dayanal

1.

Which Af the statements given above are

graphy is re\
f-eg8s topo Clated i,
nd Saraswati 119. Baskevo

was opposed to the worship of idols of @ D amlins-

Gods and Goddesses.

Eskers-

regarded the Vedas as infallible. (b)

had met and had discussions with © cirques

Ishwar Chandra Vidyasagar. )

(@ Morain®™

correct ?
(a 1,2 and 3
() 2and 3 only 120. Which one of the following planets has the
@ 1 and 3 only gt density 2
@ 1land2 only
(a) Mercury
(b) Venus
118. Consider the following statements :
1. Muhammadan Anglo-Oriental College (© Jupiter
was founded at Aligarh by Sayyid @ Earth

2. Sayyid Ahmad Khan was a great

Ahmad Khan.

believer in religious toleration, and
Parsi Christi d
oxsis and . quake Wave is know

Hindus,
. 121. Point of Origin of Earth

contributed to the funds of his college.

as
Which of the statements given above is/are
correct ? (a) Epicentre.
(@) lonly (b) Focus.
(b) 2only
(¢) Photosphere.
(¢) Bothland2
(d) Neither 1 nor 2 (d) Seismic Zone.
FJY-U-
JY-U-GTA (27-A)
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(b)
SIEC IO W 122. The maximum d
(a) & 19177 TR i epth of Lithosphe -y
© az"ﬁﬁ'm ey e Te is found |125. WHeT® an pli hl:;pearanahatma Gangyy hi g akg
(4 cein |
(b) af 1916 5 (a) Pacific O his first PY 1 Ndia gy
[NICLE) ¢ Ocean. .
@ femmer v - pack fro™® South Africa after two degyg ‘:
(¢ a9 19167 T fig (b) Siberian Plain. o Champm 1917
ﬁWﬁm ‘ (c) PatagonianD in 1916
@ o ‘ oIk, ) Lucko” in
1918 & 37gHEETE ,
(d) Himalayan Mountains. © Banaras Hindu University in 1914
128. g e .
1 TH mﬁsaﬁwﬁaﬁmﬁ @ Apmedabad 2 1918
# gz am 2 kR @A |
¥ & § fwfid 1
126, e wgT Hig 3 |
g 8, 38 T FEdE? e et | ‘T’f S # g - 1 123. A large body of magmatic material that cools 126. When and wher® was the demand for “Purn;
gl @it ? j .
(@) WETEY ( 3eifem) ! | ;n ttlxe defapt:; d«fepth of the Earth’s crust and Swaraj” MNcomPZtZ j:ripen?dence made b
evelops in the form of large domes i the Indian ational CongTess
(a) o, ' es is known
(b) Aifay , 1885 }
1 = (a) Bombay’ 1885
(0 it (b) TR, 1929 | (@ Batholiths ) Labore, 1929
d) Fepifery (c) @3’[’ 1917 | (b) Lacoliths. © Kheda, 1917
(c) Lopoliths. (d) Bombay, 1942
() wE, 1942
GY) Phacoliths.
124 frefafad 33 127. Which oné of the following provides for th
. ﬁqm aa
’ M 127 N complete equality of men and women |
(FeTs) 3w HGHT . T geet ok ot # @ '
i 4 fofofen 7wl quar #1 I [ndia ?
[ & fed . ot Rfineries
@ fo T & 7 124, Which one of & pollowing Ol Refieri® B ) rticles 14 and 15 of the Consttufo™
. “ ¢ located in Assam ? :
(b) AT (a) WNd % Gfagm o India
¥ argeae 14 AN 15
(c) T b) T SR () Tatipel? @ Fifth Schedule of T Consitution ¢
&) qiedt g . India
femig (b Numaligarh
@ fome -
aEar Affam ) (0 TheIndian Independence Act
FJY-U-GTA ()] Bongalswﬂ
() R & feyr , (@ Article 20 of the Constitution of 14
F1 AT 20 @ Digbol
(#-4) (20-A)
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143. Wﬂrﬁaﬁamq%g, 2021 #, frfafga & @ fFa
TSI/8q9 T3-8 1 gl F1 qaddm qh &
9 7 999 foram mm 2

(a) <E™@
(b) IWTW
(© figu

.(d) ITEE

the following is includeq n

. WﬂhJ'Ch oné .
The natural vegetation which covers the | 140- 5 51A (Part IV A) of the Constitution of
136- mpaximum geographical areas of India is Arh_c 2
(@ Tropical deciduous forests. India * damental Duties
ical the f Fun
® Tropical thorn forests. (a) of F undamental Rights

© Montane forests.

@ Tropical evergreen forests.

River Beas, flowing from Himachal and

137' . s .
Punjab, joins the river

(a) Indus.
®) Satluj.
(¢ Chenab.
@ Ravi.

with regard to the Constitution of India,
which one of the following statements is not

138.

correct ?
(a) The words — Socialist and Secular, were
not originally part of the Constitution.

b Suspens?
wers of Governors

(c) sPedal e

@ Writs

data up to November, 202

r the
141. As Pe the Union Finance Minist

released DY

which on€ of the
1 (outward Direct Investment)

following countries ranks 1

terms of OD
the year 2020 — 217

(a) USA

(b) Singapore

(¢) Mauritius

(d United Kingdom

() The Preamble states the objects of the|142. ‘Exercise Desert Knight — 21’ is a bilaterz

Constitution of India.
(¢ The Preamble is enforceable in a Court
of Law.
(d A Republic refers to the people as the
_source of all authority under the

Constitution.

139. Which one of the following is not a power of
the Speaker of the Lok Sabha ?

exercise between the Indian Air Force an
Air Force of which one of the follo

countries ?
(a) USA
(b) France
(¢)  Britain
(d) Israel

(a) Speaker shall preside over the House of | 143. Tableau of which one of the foll

the People.

(b) Speaker will cast vote in the first
instance in the House.

(¢) Speaker will have power to maintain
order within the House of the People.

(d) Speaker can adjourn the House or
suspend the meeting till there is a
quorum.

FY-U-GTA

States/Union Territory was adjudged b
the Republic Day Parade, 2021 ?

(a) Ladakh

(b) Uttar Pradesh

(¢ Tripura

(d Uttarakhand

(33-A)
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